
8437 8437.5 8438 8438.5 8439
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

92.5−

92−

91.5−

91−

90.5−

us
l_

1X
usl_1X:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

8.5

9

9.5

10

10.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

35

35.2

35.4

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

13.5

14

14.5

15

15.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
l_

12
X

usl_12X:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

149.4−

149.2−

149−

148.8−

148.6−

148.4−

148.2−

148−

147.8−

147.6−

147.4−

147.2−

us
r_

1X

usr_1X:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

16

16.5

17

17.5

18

us
r_

4a
Y

usr_4aY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

210.2

210.4

210.6

210.8

211

211.2

211.4

211.6

211.8

212

212.2

212.4

us
r_

4e
X

usr_4eX:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

0.5

1

1.5

2

2.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
r_

12
X

usr_12X:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

31355

31355.5

31356

31356.5

31357

us
l_

co
il1

usl_coil1:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

6611

6611.2

6611.4

6611.6

6611.8

6612

6612.2

6612.4

6612.6

6612.8

6613

6613.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

4261.5

4262

4262.5

4263

4263.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

948.8−

948.6−

948.4−

948.2−

948−

947.8−

947.6−

947.4−

947.2−

947−

946.8−

946.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

15135

15135.5

15136

15136.5

15137

us
l_

co
il7

usl_coil7:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

27363−

27362.5−

27362−

27361.5−

27361−us
r_

co
il1

usr_coil1:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

5421.5−

5421−

5420.5−

5420−

5419.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

3900.6

3900.8

3901

3901.2

3901.4

3901.6

3901.8

3902

3902.2

3902.4

3902.6

3902.8

us
r_

co
il4

usr_coil4:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

836−

835.5−

835−

834.5−

834−us
r_

co
il6

usr_coil6:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

18713

18713.5

18714

18714.5

18715

us
r_

co
il7

usr_coil7:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

430−

429.5−

429−

428.5−

428−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

71.5−

71−

70.5−

70−

69.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

32

32.2

32.4

32.6

32.8

33

33.2

33.4

33.6

33.8

34

34.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

475−

474.5−

474−

473.5−

473−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

92.5−

92−

91.5−

91−

90.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

30

30.5

31

31.5

32

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

169

169.5

170

170.5

171

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

39.5

40

40.5

41

41.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

179.5

180

180.5

181

181.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

26−

25.5−

25−

24.5−

24−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7.5−

7−

6.5−

6−

5.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7237}



8437 8437.5 8438 8438.5 8439
cyclenum

234.5−

234−

233.5−

233−

232.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

87−

86.5−

86−

85.5−

85−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

2.5−

2−

1.5−

1−

0.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

3

3.5

4

4.5

5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

448.5−

448−

447.5−

447−

446.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7237}

8437 8437.5 8438 8438.5 8439
cyclenum

7235

7235.5

7236

7236.5

7237

7237.5

7238

7238.5

7239

ru
n

run:cyclenum {run == 7237}
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